po L GINCT — 66/97%

. 1 o :
i“"-; . . “.‘\... .
Ag%%%ﬂg

BHEOXRETORROMRIZMT 2NMES

E=2HR \L'1‘44 |
(2] ;‘m“_ﬁfj
[ &) KEBREREGE

s 39| EH2TRD26H1E

[$RH3E) MEME (X) RE

ERBASRBREARE |
azem Kmsinaneas |
[EFTUSAIERTER] ERBFRARAOA—T H2ELE
[REwBERER] Wk 164 128 31H
(#HE] ¥R 17418 14H

(RUHERCHRARETFORE (£)] 14

[#HARE] F O,




1 [RTRILIET HEW)

TR DR REAR KA

SKa—F 9324
4 EREOR =1
RS | EE
A S PTTE A T 108-84356 FUN#RHEXER 3-3-8

2 [RHECHTZER]
1 [HE (XREEE) 1]

O [BHFORE] _

0 [#HF CKREEH)]
BA - HEAOY BA
B4 A% B L B sk SRRk A S
B AR I A KRB TREEALOML-2-1
0 EA X%
1B 737 R I ARG BT AE

0 {BADEHE]
AE#AR
itk €
5 Ty
x5t

0 [BEADSHE])
WIERR 19434 208
L K4 BR A*x
REHRM i 2, g
wENE AR

O [ Lo k])
1%&@3%%&3@%%& YR7BHRE MBEREIV—7 BB $
WEES 03 (5223) 3512

@ [#&HEam]

BN, RENCHRERETIZLICLY, SHE0ORBEYE S,




@) [LEEHEOCREHRZSOAR]

O [(REHEESOK]

274 D23 WIRAL

HE2TROEIRELE

EE2TRO2IHIAE T

B ()

1,604,000

FERG | IR (B

FERFAREIESR (BR)

FERTHOR(ALME ()

HBEMAESRY S— FU 5 b

o I IR T v v

PRIR AR SR

PRI BB PRRCAE SR

5 BOR ARRE SRR

| (&)

Z|1=iHA

1,604,000k

ARSI XV BB iz
& D ERT 2 HBFOK

REERBREON (%)
(M+N+0-P)

Q 1,604,000

FREBERARONK
(A+B+C+DHE+F+G+H+I+J+
K+L)

0 [RFEFREEE]

RATHRARY ()
(¥RR164F12 A 31 B HAE)

S 30,360,0004%

e Eo
WHSREHE (%)
(Q/R+S)x100)

5.28%

EfofstwoiEfIht
ERBERANS (%)

(@) [SrseiciT 2 ERARNSEE R EMN]

Byl




